Generating Quadratic Sequences

By finding the first and second (05 \/QS
differences, decide whether each of (b) No
these sequences is quadratic.
(a) 178 1110 529741
(b) 25 8114 17 é§ \les
(c) 0,822, 41,68, 98 (e
N> 800 35 54 77 (F) NO
(6) 4,1,0,1,4,9 (6> Yes
(f) 6787 836 ¥65 198 #1141

(h) No
(@) 837562 OSSO 173 5

(V) Yes
(h): 5.8 23 43 75 113
(i) -10, -4, 12, 38, 74, 120 (J) eSS
(G) 17, 39,69, 107, 153, 207

| Generate the first five terms of eacI; of (Q) | \) \"\‘) \q) 26)55
‘ these quadratic sequences. (b}o) 3)%) 1) )2_\_
(@) n?+10 (b) n? -1 c)2)e)\’l,lo)3o
| © nf+n (d) n*+2n+1 (d)"\‘)q)\@;25:3é’
' (e) n%*-3n () n?—n-2 (9_)_2)—2,0)4\—,10
| (@9 2n%2+5 (h) 3n2-7 (,c) —z)O)Ar)\O) ]
0 Znifn—s G) 4n? +»31:1 (3) 7) 5% 23)3"'1 PO
ot il M A <\¢\> -4 )5) 20,4\,66
o | (0-2)5,16,31,50
(lcs <Dt 1

(a n?+5 (b) n? =2
b o (d) n?+2n (@) 105,2505 (b)A%,249%
f(e) nt-3n41 () nP-n-2 £) A0 ,2480 (&) 120,2600
| @ @*+1 (i 3 @)71,2351  (F) ]8,244€

(i) 2n°+n-1 () 5n%+3n

R () 401, 1oy (h) 200, 7500
(1) 207, 5047 () 50, 12650




